log AY/Y)

CIELABN2 standard lightness L*

Yn=L* w

L* nc_l O’
L* CiELABn2 =109 (Y/Y)/2-9  (¥;=100,Y,/100<Y<=Y,0)
L* N(3.6)=20,L* ,(18)=46,L* (90)=96

L*45=95,52,y=2

L*1=46,18 8,4
. [y

L*3620,19, —46 18 Y=18

5, 1!/‘1/2 5=0, 40
42 D=

log[L*/L* ,]=0, m,=0,47

Iy

CIELABN?2 relative standard lightnessL*/L* ,

YocmL*w - nc=100,

LAL*
L* ciLaBn2 =109 (Y/Yp) Y259 (¥,=100,Y,/100<Y<=Y,0)
L* (3,6)=20,L* ,(18)=46,L*,/(90)=96
L* c/L* :2,06 y—2 5, lf/’l/Z 5=0, 40
,00 §= 08 D
L*SdL* =0,43,1%,=46.18 V,
log[L* /L* ,J=0, m,=0,47

CIELABN2
tristimulus value difference
Yoc=L*w - nc=100,

L* CiELABR2 =109 (Y/Y)/2-9  (¥;=100,%,/100<Y<=Y,0)
log(dY) = (1/2,5) 100[2,5(,/108)] + [1-(1/2,5)] log¥)

* =46, dY,;=4,57, dY,/Y,=0,2543 _

dYorF12,02=.0, 11/—1/2 50,40
dYg=4,57, $=108,42 D,=—8,42!

application
dY3 ® 1,73 Y,=100 dy=4,57 : range

Iog(AY/AY )

Yn=3.6  Yyw=90

CIELABN?2 relative

tristimulus value difference

Yoe=L*w ~ ne=100,

L* CiELABn2 =109 (Y/Y)/25-9  (¥;=100,,o/100<Y<=Y,c)
log(dY/dY,) = [1-(1/2,5)] log¥//Y,,)

AY/AY,

dYey/dY,=2,62 y—2 5 11/—1/2 5=0,40
Y,¢/dY,=1,0 42 D,=-8,42
dY3,gdY,=0,37, Y- 1oq dY=4,57

* =46, dY,;=4,57 dY,/Y,=0, 2543

1v,=18
1 Yw=90

Yn=3.6

CIELABN2 log
tristimulus value sensitivity

SOV Yoc=L*w - nc=100,
L* CiELABR2 =109 (Y/Y)/29-9  (¥;=100,Y,/100<Y<=Y,0)

log(dY/Y)= log[2,5(Y,/108)] - (1/2,5) log{(/Y,)
= (1/2,5) log[2,5¢,/108)] - (1/2,5) log{)

log(dY/YF-0,59 m=-0,39~ = - <. application

* =46, dY,=4,57, dY,/Y,=0,2543 1 ~ < gange
1
(dY/Yy5=0,1336,y=2,5, 14=1/2,5=0,40
(dY/Y)=0,2543 §=108,42 D,=+8,42
(dY/Y},=0,4830 Y,=100 dY=4,67
1Y,=18
1 Y=90

Yn=3.6

log (Y/AY) CIELABN2
tristimulus value contrast

G Y=L w nc=100,

L* CiELABR2 =109 (Y/Y)29-9  (¥;=100, ¥,/100<Y<=Y,0)
log(Y/dY)= - log[2,5(/,/108)] + (1/2,5) log¥/Y,)

— (1/2,5) log[2,5¢,/108)] + (1/2,5) log{)

*,=46, dY,=4,57, Y,/dY,=3

1
(Y/dYyo=7,48 28, 1§=1/2,5=0,40
(Y/dY)g=3.93 §=108,42 D,=-&42 application
(Y/dY}y6=2,06 ¥y=100 d¥=4,5%  range
17,=18

V=90

Yn=3.6

log [(Y/AY) I (YAY),]

[AYN) I AYIY) ] CIELABN2 relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
L* CiELABn2 =109 (Y/Y))25-9  (¥;=100,Y,o/100<Y<=Y,c)
log(dY/)I(AYY),] = - (1/2,5) logiIY,)

(dY/Yyo/(dY/Y)=0,52,y=2,5, 14=1/2,5=0,40
(dY/Y)g/(dY/Y)=1,00 S= 103 42 Dy=-842
(AYIY3 /(dYIr, =189 V=1

'Yu:lS
Y=90

YN=3.6

CIELABN?2 relative
tistimulus value contrast
C,/Cry=(YIAY)/(YIAY), YoceL*w - nc=100,

L* CiELABn2 =109 (Y/Y)29-9  (¥;=100,Y,o/100<Y<=Y,c)
logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)

(YIAY}o(Y/dY)=1,90,y=2,5, 1§=1/2,5=0,40
(Y/dY)g/(Y/dY)=1.00 §=108,42 D,=-8,42
(Y/dY} g/(Y/dY)=0,52 Y,=10Q d¥=4,57
Iog[(Y/dYY(Y/dY),]=0, m,=0,40 =
5

L* (=46, dY,=4,57, Y,/dY,=2 =

application
range
v,=18
Yy =90

YN=3.6




